

			Vendor Ranking		Page 1 of 1
Letting:	03210408	April 08, 2021 2:00 PM	Call Order: 006	Contract:	E3U75-R0
District:	District 3		Counties: WALTON	Fed Aid No	<b>b:</b> N/A
Contract Time:	06/30/22 CC	OMPLETION DATE		Project(s):	42378127230 (*)
Contract Desc:	DISTRICTW	/IDE BDI PROJECTS - PON	D MOWING & LITTER REMOVAL		

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & D MOWING LLC	Responsive	Winning bid	\$23,367.60	100.00%
2	LAGNAIPPE CONSULTING LLC	Responsive	Non-Winning Bid	\$24,377.17	104.32%
3	PINEY GROVE NURSERY AND LANDSCA	Responsive	Non-Winning Bid	\$35,410.20	151.54%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$60,386.50	258.42%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY



			Та	bulation of Bi	ds			Page 1 of 4
Letting:	03210408	April 08, 2021	Call	<b>Order:</b> 006		Contract:	E3U75-R0	
District:	District 3		Cou	nties: WAL	ΤΟΝ	Fed Aid No	<b>:</b> N/A	
Contract Time:	06/30/22 CON	MPLETION DATE	E			Project(s):	4237812723	30 (*)
Contract Descr:	DISTRICTWI	DE BDI PROJEC	CTS - POND MOW	ING & LITTER	REMOVAL			
base of the fence, completed their op from fences are in A Business Devel BUSINESS DEVE standards can be f For more informati http://www.cmdp-b Prequalification pe 275-000-01 for app https://www.fdot.go It is only necessary an attachment to fo All Sublet work mu The subcontractor of work. Proposal	as applicable. A erations or by th cidental to the pa- opment Initiative LOPMENT INITI found at: https://o on about bidding ogp.com/bdi-proj- or Rule 14-22 is r proval prior to re pov/equalopportury to submit the S dot.bdi@dot.stat st be contracted must also subm Guaranty of \$50	Il gates for fenced ne end of each day ay items listed. ATIVE Bidders mu www.fdot.gov/equa g on BDI projects p ects.html not required. Bidde ceipt of bid docum nity/ Small Business Affi te.fl.us. I to a small busines o is required for bid	blease see the trainin ers must complete an ients. The form may idavit form once per ss or businesses as all Business Affidavit ds over \$150,000 an	I be locked after Maintenance of nitted with Bid D ess as defined b g guide located d submit the Sn be accessed at: year. Send a con defined by the D Form provided b d may be in the	the Contractors en Traffic, and Remo ocuments. y FDOT. Small bus at: nall Business Affida mpleted and notaria epartment. by the Department form of a Cashiers	mployees have aval of vegetation siness size avit Form No. zed affidavit as prior to the start Check, the BDI		
Line No / Item I	D Alterna	ate Quantity	andard Bid or Propos (1) T & D MOV		(2) LAGNAIPPE	CONSULTING		OVE NURSERY
() indicates item is		Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N: 0001	(SLOPE MOWI	NG (AC					
0005 E104 4 2 MOWING (SLOPE)		64.420 AC	105.00000	6,764.10	149.50000	9,630.79	60.0000	0 3,865.20
0010 E104 4 4 MOWING (INTERM		230.650 INE) AC	40.00000	9,226.00	50.50000	11,647.83	60.0000	0 13,839.00



Tabulation of Bids

Page 2 of 4

Letting:	03210408	April 08, 2021	Cal	II Order: 006		Contract:	E3U75-R0		
Line No / Item ID Alternate Quantity Item Description Units			(1) T & D MOWING LLC (2) LA			2) LAGNAIPPE CONSULTING LLC		(3) PINEY GROVE NURSERY AND LANDSCA	
	item is bid as Lump S		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SEC	CTION: 0001	(SLOPE MOWI	NG (AC						
0015 E110	30	295.100	25.00000	7,377.50	10.50000	3,098.55	60.00000	17,706.00	
LITTER REMO	DVAL	AC							
0001 SL	OPE MOWING (AC	) Section Totals:	I	\$23,367.60		\$24,377.17		\$35,410.20	
			1						
	Contrac	t Grand Totals:		\$23,367.60		\$24,377.17		35,410.20	



## **Tabulation of Bids**

Page 3 of 4

Letting:	03210408	April 08, 2021	Cal	I Order: 006		Contract:	E3U75-R0	
Line No / Item ID Alternate Quantity Item Description Units		(4) T & M LAWN-FENCE SERVICE INC						
() indicates iten	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	(SLOPE MOWIN	NG (AC					
0005 E104 4 MOWING (SLOPI		64.420 AC	250.00000	16,105.00				
0010 E104 4 MOWING (INTER	4 MEDIATE MACHIN	230.650 NE) AC	160.00000	36,904.00				
0015 E110 30 LITTER REMOVA		295.100 AC	25.00000	7,377.50				
0001 SLOP	E MOWING (AC) S	Section Totals:		\$60,386.50		I		

**Contract Grand Totals:** 

\$60,386.50



			Tabulation of Bids			Page 4 of 4
Letting:	03210408	April 08, 2021	Call Order: 006	Contract:	E3U75-R0	
			re to file a protest within the time pre orida Statutes, or failure to post the			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.